OSI 7 Layer Z} A58 I

= Layer 1 : Physical Layer
« MA” 2] S| H JIAE FHAMIIAL £ X
CHIL 1A, B, I H £HE Fo
= Layer 2 : Data-Link Layer
. 22Xl WAL E5t S AX[7H0] AN QY ML L HA
- 22|¥Q FAE X (MAC Address)
e FIM AR 1E LR HE Frame MY, SEH O

= Layer 3 : Network Layer
« Ct2 2o UXITHF A|AH 2I0] AAHGa F 2 MEIS HF

-J

28 84
« JHIE FE517] /%t =2l™H T2 8 AL (IP Address)



OSI 7 Layer Z} HIG 82 T

= Layer 4 : Transport Layer
- ol HF MEIAE HF
« S8l FH7Ist= 7l Al (Application)Zt2] Sl Al X HEF = Q]
« Hiojgl T E Ao, 0l B, AMEE BEFH

= Layer 5 : Session Layer

° k"ﬁ AE-I%Is %xls _%Eis IIJ%HOI-%F |I:’_7(‘):l

= Layer 6 : Presentation Layer
« % ololE HEl (format)E 2R

= Layer 7 : Application Layer
« MNEAS HAE MF or MBIAE X|FH

2

. LYFHS DB, UH M4, HAOY 5



Ethernet Frame (Layer 2)

= Ethernet Il Frame (DIX II)

= o T =z

8 Byte 6 Byte 6 Byte 2 Byte 46 ~ 1500 byte 4 Byte
Destination Source
Preamble Address Address Type Data FCS
« Preamble : $ &1t =M Z9| pit F713 L FrameQl AlZ2 U
« 4%l 7Tbyte : HIE 7|3t E 2I51 10101010....102 2 & bitF S M
« 59l 1byte : Frame2 A& S 22l= 101010112 MY
 Destination Address : 38 X| Q| 2A4F a8 EAl (MAC Address)
- Source Address : Y A2 24 F =48 EAl (MAC Address)
« Type : MAC Frame&l ClI°oIE 220 AHAU= B¢ AF Z2EZE FTFRE EAM

Data: 4 AFL282E 82 HIO|E or 4% AIF HEsHoF g ¢lo|
FCS : Preamblelt FCSE XAl 25t 325t MAC Frame®Q bitZdolA LFE AHAL




Internet Protocol

* Internet Protocol (IP)

- OSI 7 Layerd 34l i z2
TCP/IPAIM M4 S CiYsts Z2ER
A|§|Jgo| ol 0 H| o4& X|8fHo|Ct

Fao et WEYAZL ML FAZ2E HoSICH
IP—I VersionZ IPv42t IPv6Zt =
Router

c UEQQI EZ2EZO| FA0 2t HELKXIAZ ML F 2 E A Oof5HC},

- 2t g Ee sl 2l Mo FA2E Hig e,

« Broadcast Domain= 22| Al 7IC},



IP Header (Layer 3)

Byte
O"set|0| I LN N ET I LT I I —
Ol  Version 'Ht é:‘et?‘der Type of Service (TOS) Total Length
9 Identification i riags Fragment Offset
x DM 20
8]  Time To Live (TTL) Protocol Header Checksum Bytes
IHL
12 Source Address (ll-rigi:jneert
SN D S N D N N D NN S N S N N N N N N N G S Length)
16 Destination Address v
20

IP Option (optional, not common)
) 1 2 3
Bt 0 1 2 3 45 67 89 4512345% 789 ,

123456789 1

|<— Nibble —>|— Byte —P’— Word



IP Header Field

- Version : IP Protocol Version 78 £ (IPv4, IPv6)
 IHL(Internet Header Length) : IP Header2 Z°I& 32bitth# = HE Al

- TOS(Type of Service) : Internet2 Application, Host, Router? &+8d=¢ MB[AE
&

- Total Length : IP Packet® T ZO|F HIC|E i = HEA|

- |dentification : IP Packet® T+ 2737 25t T IP Packet®l Fragmentation= 2
T SHX|OM HAES ¢l AFS 5Lt

- |IP Flags : IP Packet2 Fragmentation §£& HAl

- Fragmentation Offset : Fragmentation= ©1Z! IP Packet A& RIXIE EA|

« TTL(Time-to-Live) : IP Packet®l °l & = QU= 2 2t ¥ EH =+

 Protocol : IP Data®ll & &l o] = Next-Headerg E Al

- Source IP Address : IP PacketZ MYt SY Xl A|LHEO |pF2

- Destination IP Address : IP PacketZ =& SHX| A|AH 9| PFEA

« Option : EY%t M2 SMHE H9

- Padding : Option®l F7t=l = d % 32bitHH =2 2 = UEE FIEH= R

el



ARP (Address Resolution Protocol)

= Address Resolution Protocol

cPEAHBHIFZTTIRESR

« IPHHIZI EAME 517 /A= Y Yol ESLE 24 FE FTAE HA ot
Qtof StCt

o IPHEI7I QMG F S ST UIEQIAOAM FoYE 24 F FTAE UL
721 st Z2 £ 3

e Ethernet WolM = 2A4F =42 MAC AddressE AH&
« ARP= Request(£7), Reply(d E)22 v+ 4



ARP Header (Layer 3)

Byte

offset|0| N TN N N TN NN NN (NN N (NN S N 2] 1 1 L1143y
v Hardware Type Protocol Type
C T T T 1T T 7171 P P e——p— I | I N S N I -
4 Hardware Address Protocol Address

Length Length

Sender Hardware Address

12 Sender Hardware Address

Sender Protocol Address

16 Sender Protocol Address

Target Hardware Address

¢ w
| I N N I I [ 1 1
G .

20 Target Hardware Address

- Target Protocol Address

Bit 6 7 8 9



ARP Header Field

- Hardware Type : 3 & stEA =29 F&F
 Protocol : Ct&1 U= 49 AF Protocol FE

- Hardware Address Length : 2|l0iAI 8] StEAO F249 3 7|F bytettHZ EA|
- Protocol Address Length : g%l AlF Z2EZ F49 37| & bytet 2 EA
- Operation : ARP packet2 5& 2 EAl(Request, Reply)

- Sender Hardware Address : ARP packet2 ™ &35t= A28 SHES
- Sender Internet Address : ARP packet2 &5t A28 42AF
- Target Hardware Address : ARP packet2
- Target Internet Address : ARP Packet2 =

of FA

HU
Uk

2
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=
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o fir
R
>
ot
lo
9|I-
In
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2
44



ARPQO| = Xt} Al
*ARP= Requesth Response= O| & O{ N QUL

switch router
(@)
T &9 — —
I

i
]

I

2. C= ARP Reply= AOf|#| B LHC}. @ @ @
3. A= CO| MACEAZ HO|E{E MasicE, <O < S
A B C

A ZEE{7} C2 CIO|EE Hedte Z

1. A= IP(OE 7| AH8otL Q=X
ARP RequestE Broadcasting®tL}.




ICMP (Internet Control Message Protocol)

» Internet Control Message Protocol
* Layer 3 Protocol
Ot +32 FEE WY = JUEE O AR 352 B4
T LER AIOIESMIo| (2t &) Afo|o M HIAX|E Ao
HWESIIS HAERL XICHS 28l AHE
IPE X|&l5t7] /ISt Z2EZE 2 H o



ICMP Header (Layer 3)

Byte
ofsetloy | vy oy It v e e e |
0 Type Code Checksum g

Other message specific information... +

| — I 1' l |2 I I l
Bt 0 1 2 3 4 56 789 4512345% 7289 , :

1234567189 51

<4— Nibble —P'— Byte —P'-— Word >

Type Message Code Message
0 |32 J & (Echo Reply) 0 Network Unreachable
3 =X =Y =7t (Destination Unreachable) 1 Host Unreachable
4 4t M A5t (Source Quench) 2 Protocol Unreachable
5 2t E M (redirect) 3 Port Unreachable
8 |3 8% (Echo Request) 5 Source Route Failed
11 AlZt =3 (Time Exceeded) 6 Destination Network Unknown
12 m2to| & =% (Parameter Problem) 7 Destination Host Unknown
13 EtY 28T 2% (Timestamp Request)
14 EfQ 28X B Ef (Timestamp reply)




TCP(Transmission Control Protocol)

= Transmission Control Protocol
cAXFY FH T2ER
- BURIY SHAIZY HH HPUYL SoH AL W F ClOIE g M
CF (Three-way Handshake)
« OOl AMEHZ H-E

« Sequence NumberE At&5tH o6& MYsHY MES HolEH QS
Acknowledge NumberZ & Q1 Stct, 2FoF M EFSE HIO|Eof 2 M7t LW S
¥ M HESZ METHC

. T2 of

« TCP Header2 Window ZE £ At8&3tH ali AMAEIQ puffer 2718 54
MAENEZ = UAMLEN) A 2 =Lt

« 2 F A0

« Checksumiét= °l&



TCP Header (Layer 3)

12

16

20

Bit

|01111111|1111111121111111|31111111|

' I I 1I l |2 I I 3'
01234567890123456789012345678901>|

|<— Nibble —Pl— Byte —>|— Word

Source Port Destination Port A 4
Sequence Number
| s i i s s i " — — — — v v Y,
Acknowledgment Number Bytes
Offset
TCP Flags .
Offset Reserved CEUAPRSF Window
Checksum Urgent Pointer
g v
TCP Options (optional
p (op ) Y



TCP Header Field

+ Source Port: YU X| Port HE
+ Destination Port : SHX| Port HZ
« Sequence Number : 2E 32 $X|s
- synflag7t 121 4% =71 &MHZ E 2 0]
- syn flag7t 02! 3% segment &=MHITE 20|
« Acknowledge Number : S HZ
« Offset : TCP Header 37| (7| 2 20byte)
« TCP Flags : TCP Segment2 S& & 2|0
« URG: 713 Hi°I8 Urgent¥ 32 gtol 2 &
« ACK: & E Segmentd2 EAl. Acknowledge Number/t & & &t
- PSH:8lY segment2 HIOIE E Application AlF 22 FA| HEraloF &
« RST:HZ2 M A%, Es FESHA f 2 SegmentE U2 3
- SYN: 913 2%
- FIN:QE 32

« Window : +41&0| 82 £ Ql = pufferd 37|

Jo

o
ggoz M

El

© Checksum : TCP Header& E &t Segmentd A2 2 F HALE 2I5 Ar-&

+ Urgent Pointer : 2128 X 2|3l oF & G|o|E{ 2] otX|a} HiOo|E

- Option : Z T 40byte (32bitCHRI 2 XM 2|diof 522 Zlo|Jf ot gt= H 2



UDP(User Datagram Protocol)

= User Datagram Protocol
- IPE 7|HIC 2 GIO|HE HF
- Glole] MEZ 2% LA Z& (e2g°l glS)
- AZ 4B A HE FTE Aol EXSHA S
- AE YEIZt EXSEX B S

. 257t TCPECH BH2C}



UDP Header (Layer 3)

Byte
O"S‘”lol I I AN A I I T e |
0 Source Port Destination Port :
Bytes
4 yt

Checksum

2345678981

>

1
01234567829 451

>
2345% 7891
< Nibble —#|— Byte —#}— Word

Source Port : 22Xl Port H=Z

Destination Port : 33 X| Port tH=Z

Length : UDP Headerg X &% UDP Segment F x| 37|
Checksum : UDP Headerg X UDP Segment A 2 @7 HAL

ot



ARP Operation

> ARP= Request2 Reply2 4
= 172.16.4.1°1 172.16.4.3° A CIC|E{ E H4L£5t= F &

1. 172.16.4.1& 172.16.4.3 IP Address& AtLs5t=
PC2 MAC AddressE 3t7| £l3ll ARP Request
£ Broadcast 5ICt

2. ARP RequestE 22 172.16.4.32 172.16.4.1°ll
Al Xt&12] MAC AddressE E 2 ARP ReplyE
H ettt |

3. 172.16.4.12 Frame2 2SS 1 HIo|HE

| need the
MAC address
of 172.16.4.3

172.16.4.1

| heard that
broadcast.
Here is my MAC
Address

172.16.4.2 s

172.16.4.3




ARP =X

» ARP Vulnerability
= ARPZ= StatelessBt Protocol
n QIZ AL Z 2 XY
. SERZL HUW MACS X9 R E
= ARP Request= Broadcast tf4{ 2
- Broadcast TrafficZ Z°|7t 2|5t &y
v'ARP Cache Table2 At-&
v ARP Request Packet 2t2] FEE gt (L8 0S)

Packet2 A&



ARP Spoofing Attack

» ARP Spoofing Attack
= ARP Cache poisoning®l2t11 = &l
= Victim2 ARP Cache Table2 W &2
= Packete °lF B2 HY 7tF
* Victim2 3 AXol Al packet2 ™ & 5HAI& Ct

ot

OfJ

AXto| O|ECHE B

> 54 #él
= Attacker
« Victim®lZl 3 Z A7t A2l =2 /4 /g%t ARP Reply M2 XA E5He=E HE
= Target

« ARP= AtAIO] 2F2 ARP Reply Packet2 Q15 5t= 07 LISl
ZXAt7F EUH = ARP ReplyS BtotE9 At412] Cache Table2 H

e

glooz 3
Bgtet



ARP Spoofing Attack

> Z= 0| AHYY

= Target® ARP cache table2 Z2%}3t% Packet2 34 XE ZSsI=8
SHYCIH 3 HX= BEE A 8 Packet2 forwardingdi = o1 oF BtCt

= 3 AKX NIC?} Packet2 Bt2 ¥ IPE Q152 = =0l ol XtAlof |p
7t otL| 22 Forwarding®l &8 =l U ™ o 7! 2 Dropst2l &Ct,

| ¢§ 2™
TatM DataS YT $AURE $EHS W 4 gl Het



IP Forwarding 3%'&

> Packet Forwarding %%
= Kernel®ll A X| &5t = B
e Unix A
- Iproc/sys/net/ipv4l/ip_forwarding® &2 12 4%
- Windows A&

 \HKLM\SYSTEM\CurrentControlSet\Services\Tcpip\Parameters\IPE
nableRouterg 1Z 4%

= Application2 At-&3t= &Y

- fragrouter —B1

> & Hyo| ol

» Kernelt} 4! - 6l A|AEIS 2t E{X S S & Al7|7] WH &) Traceroute
2 2 IJIF

traceroute &9l 0t

rr

= fragrouterE ©|-& & O



ARP Spoofing Attack Lab

» Topology

10.10.10.1/24

WinXP

.254

10.10.10.2/24
fa1/3

WinServer

Attacker

fa0/0

10.10.10.10/24

GiE; fa0/1 '

Internet

,-){ #



ARP Spoofing

> ARP Spoofing &4

= Sniffing3t 1%t 3t = &+ 79l SystemZ M Tt & MZO MAC F£E 3

HXto| MAC TAE Qx5 BW

« £ A|AEIO| SME T FHXE % Q50 SAGHA &

= MiTM(Man In The Middle) I Ei7t &
> MZOA FHAIE el AXMY £017] #I3H ARP Spoofing=

otCt
= arpspoof -t 10.10.10.1 10.10.10.254
= arpspoof -t 10.10.10.254 10.10.10.1



